No. 14317

DENMARK and KENYA

Exchange of notes constituting an agreement regarding Danish assistance to Survey of Kenya (with annexed list). Nairobi, 24 March 1975

Authentic text: English. Registered by Denmark on 17 September 1975.

> DANEMARK et KENYA

Échange de notes constituant un accord relatif à une assistance du Danemark pour l'exécution de levés au Kenya (avec liste annexée). Nairobi, 24 mars 1975

Texte authentique : anglais. Enregistré par le Danemark le 17 septembre 1975.

EXCHANGE OF NOTES CONSTITUTING AN AGREEMENT' BE-TWEEN THE GOVERNMENT OF DENMARK AND THE GOV-ERNMENT OF KENYA REGARDING DANISH ASSISTANCE TO SURVEY OF KENYA

I

24th March, 1975

104. Ken.4/51

I have the honour to refer to the agreed minutes of September 20, 1974 on the negotiations in Nairobi between representatives of the Government of Denmark and the Government of Kenya regarding future official Danish development assistance, and to the letter of December 3, 1974 from the Ministry of Finance and Planning—Ref. DV 88/78/01—regarding Danish assistance to Survey of Kenya.

The Government of Denmark is willing to make available to the Government of Kenya within the Danish fiscal year which ends on March 31, 1975 an amount of 2,7 mill. D.kr. for the purchase of surveying equipment.

The Danish support shall be made under the following conditions:

- 1. The grant shall be used in accordance with the attached equipment list.
- 2. Immediately upon receipt of the transfer a duly signed receipt voucher shall be forwarded to the Danish International Development Agency (DANIDA) through this Embassy.
- 3. By December 31, 1975 and when the grant has been fully utilized, a detailed statement of accounts, duly certified and audited shall be forwarded to DANIDA through this Embassy.

If the foregoing is acceptable to the Government of Kenya, I have the honour to suggest that this note and your reply to that effect be regarded as constituting an agreement between the Government of Denmark and the Government of Kenya concerning Danish assistance to Survey of Kenya.

> H. KÜHNE Danish Ambassador

Mr. A. Vienna Under Secretary Ministry of Finance and Planning Nairobi

EQUIPMENT REQUESTED FROM DANISH AID

33	180 metre steel bands @	900/-	29,700/-
30	Metallic ranging rods @	100/-	3,000/-
50	Chainage tripods and plumbobs @	270/-	13,500/-
10	7 KgSpring balance@	200/-	2,000/-
10	Triangular Scale (Metric)@	50/-	500/-
17	Camp-chairs@	80/-	1,360/-

¹ Came into force on 24 March 1975 by the exchange of the said notes.

17	Camp-beds and mattresses @	200/-	3,400/-
17	Camp-tables @	100/-	1,700/-
20	Jerry-cans@	70/-	1,400/-
17	Officers tents, inners@	1,600/-	27,200/-
17	Officers tents, outers@	1,050/-	17,850/-
60	Porters tents @	1,600/-	96,000/-
5	"Pocket" programmable computers @	10,000/-	50,000/-
4	Short range E.D.M. @	95,000/-	380,000/-
1	Orthophotomapper (for attachment to A8 plotters).		620,000/-
	Accessories for existing H.P. 9810 Desk-top com-		•
	puter		96,000/-
1	9830 H.P. type Desk-top Computer		121,000/-
1	Self-Reducing Techeometer		40,000/-
1	Electronic contact Photoprinter ($10^{"} \times 10^{"}$ format)		65,000/-
1	Automatic Guillotine (installed). Size minimum		
	115×115 cms		130,000/-
1	Horizontal enlarger (5 \times Minimum) [9 $\frac{1}{2}'' \times 250$ ft.		
	film carrier]		140,000/-
1	Photocopier, to copy colour		15,000/-
1	Diaso Plan Printer (min. 40" width)		61,000/-
1	Micro filming Unit Complete		320,000/-
4	Pantographs		13,000/-
3	Rotary trimmers		5,000/-
1	Impulse heat sealer (for plastic map pockets)		2,000/-
4	Planimeters		7,000/-
2	Grant Projectors@	30,000/-	60,000/-
1	Epidiascope@	10,000/-	10,000/-
10	Land Rovers @	50,000/-each	500,000/-
4	Lorries@	90,000/-	360,000/-
	Funds for placing survey work out to contract by		
	•		A AA AAA (

200,000/-

GRAND TOTAL

3,392,610/-

Π

private surveyors

REPUBLIC OF KENYA MINISTRY OF FINANCE AND PLANNING THE TREASURY NAIROBI, KENYA

24th March, 1975

Ref. No. DV 88/78/01

.

Your Excellency,

I have the honour to acknowledge with thanks receipt of your letter No. 104.Ken.4/51 of March 24, 1975, which states the following:

[See note I]

83

I have pleasure in confirming that the foregoing is acceptable to the Government of Kenya, and that your note referred to herein and my reply hereto shall be regarded as constituting an agreement between the Government of Kenya and the Government of Denmark concerning Danish assistance to the Survey of Kenya.

Please accept, Your Excellency, the assurances of my highest consideration. Yours sincerely,

> [*Signed*] Alfred Vienna

1975

H.E. Mr. H. Kühne Ambassador Royal Danish Embassy Nairobi

cc: The Permanent Secretary Ministry of Lands and Settlement Nairobi

> The Director of Survey Survey of Kenya Nairobi